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I 21 mwn: time frame and method of (R77aw) narowy Np*In
a  Time frame:
i v7rif he used it during the %, he may continue throughout the %4, then process it afterwards
1 Suggested source: v. 1- entire %31 is considered to have one “morning after”
(a) Challenge: v only applied principle to this na%n — there is %372 9mn 5wal
2 Source: (since there is constant cooking) each day generates 91 for the day before
ii ~ o’pom he continues using it until after n%5R jnr of whichever wmp he cooked in it
1 Source: vv. 2-3; wait until n99R (v. 3) is over, then wash (v. 2)
b Method:
i 7 like ©130 npn (cleaning inside) — cold water
ii 7920w like V120 N2YVY (cleaning outside) - cold water
1 am7732 these opinions follow ’27; D'non maintain that np»n is with hot water, na»ow with cold
(a) Argument: follows method of 7121517
(i) Counter (237): this process is besides %197
(b) Argument: text could’ve used pn (or qow) twice; use of both indicates that one is hot, other cold
(i) Counter (»2%): if it had stated pn twice, X"10 only do inside (or out)>need both in and out (cold)
iii ~ Spits and grills: must undergo n>»an in hot water
II  'm mwn: processing pots that had mixture cooked in them
a  If: he cooked nw1p with PN or »WTR WP with ovp DwTp
i Ifthereis v’ they are eaten like the more stringent one (D*w1p *W1p or DWTP)
1 But:no requirement of 190w np»n nor do they invalidate through contact
2 Question: if 7"p7p were cooked with w%p wwp, they require w"n for the vy v
(a) Answerl (»an): they do require, just not for the w1y *w7p (if no v™)
(b) Answer2 (827): mwn follows v™ — no v"n for »Yp DWTP
(i) Analysis: according to 817, we understand the 2 clauses — 2" teaches according to v"
(if) But: according to »aR, why require both clauses?
1. Justification: if only had 1¢ clause, 870 that only 1510 can “trump” (Y0an) 0'wTp, not other wwTp
2. And: if we only had 274 clause, 8*70 that only other 0w7p can nullify mwTp, not pon...5"np
b If: aloaf touched another loaf or a piece (of meat) touched another — only the spot of contact (ny’51) is oK
i Source:v.4 —yy» = any contact, but n9v11 - must have ny»"91; y» = only point of contact; 19w11 >not sinews etc.
1 Continued: w1p> = if it is 5109, to invalidate (point of contact); if 13, to require all be eaten as 1N
(@) Question: why invalidate? Why doesn’t nwy of D'w1p n%aR trump n”5 of eating n»10a nrvn?
(i) Answerl (x27): rule of n" nmT WY doesn’t apply in w1pn
1. Proof: may not break bone of noa (v. 5) — even if there is meat inside (marrow)
(if) Answer2 (»wn ”): wIp’ is an NWY; the NWY of DWTP N IR doesn’t trump N NVY
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ii  Extension: from v. 6; each 117p listed there informs rest of list about one rule
1 775w requirement of '3 (doesn’t mean pn — that is written re: ©nYw — v. 7) — knife (for nomwv)
(a) Source: v.8 —and nTpy was an 19 (v. 9)
2 jmp: only eaten by nnnd Mot
(a) Can’t be: in re: WX nRkon, which are written explicitly (v. 10)
(b) Nor:712% MYy, inferred from extra phrase in v. 11
(c) Answer: some infer from v. 11, some from v. 6
3 pxvm yvais vTpn (our rule)
4  pww just as placenta of DWR is not W17p; neither is placenta of any n*w7p sanctified
(a) Note: he must hold that n>wTp MmT51 are only sanctified at birth
(i) And:we can infer from impossible cases (e.g. DWR — only male)
5  pwiopjust as any leftovers were burnt — but no live animals included
(@) So too: all »wWp — any living “leftovers” (e.g. ¥o»a 1192mw DWR) aren’t burned, but graze etc.
6 5w nar just as DNYY can generate and become 519, so too with all nnavp
iii  Alternate version of ¥”1(only replacing i, nNvnand oWK)
1 7Amp: just as nmn sanctifies others via ny’53, so too all navp
(a) Justification: if only written in re: nmn, 8"7o because it is soft, it is Y512 — not nxon
(i) And if: only written in re: nRon, 8”10 because it is “bubbly” with fat it is 12, not so with nmmn
2 nxvmjust as nRon must be brought from PN, during the day and with his right hand, so too all miavp
(a) Sources:
(i) 5 v. 12 — must be his, not from communal funds, nor from 7wyn
(ii) orxisinferred from general phrase in v. 13 (a: it was mentioned inadvertently)
(iii) p» 7 inferred from yagR and N> (a: mentioned inadvertently, or in response to ¥ who main-
tains that yaxx alone is enough, but N1 w/o yaxr doesn’t imply right hand)
3 pwn just as bones of DWR are permitted, so too with all nuavp
C  AN17s questions:
i Abovelbelow: if N1y BT is atop nkon 0T on T3, obviously requires vV1223; what about inverse?
1  Lemmal: issue is contact — there is contact 201273 YV
2 Lemma2: issue is absorption — no absorption = v12'3 YV WK
(a) Conclusion: no requirement (issue is nY*92)
ii ~ sw¥ym: obvious that o7 on the garment of a VMW or fat on the garment of a 217 923 — not y¥in
1 Question: what about both on one of these artisan’s garments?
(a) Lemmal: he only ignores that which is part of his livelhood > yxm
(b) Lemma2: he doesn’t care about dirt on his garment at all = pxm 1R
(i) Conclusion: ypn
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